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PART A : GENERAL COMPUTER USE SKILLS

L.

Software that enables the users to view
Web sites on their computers is called:
(A) Search Engine

(B) Web Browser

(C) Web Directory

(D) All of the above.

In a GUI, a picture that represents a
command, program, file, or task is

called:

(A) Symbol
(B) Menu
(C) Icon

(D) None of the above.

Software feature that allows a single
keystroke or command to be used to
automatically issue a predetermined

series of keystrokes or commands is

known as:

(A) Menu

(B) Groupware
(C) Macro

(D) None of the aboves %
Which of the followitg is not an

example of file management command?

(A) COPY
(B) Formats
©) Rename

/D), Al of the above.
“\Which of the following can be used in

L“'";Portable computers to replace the hard

disk?

(A) Cache Memory

(B) Random Access Memory
(C) Flash Memory

(D) None of the above.

10.

A e looks like a credit card
but contains a microprocessor and
memory chip.

(A) Sound Card

(B) Graphic Card

(C) Smart Card

(D) None of the above. q
Smallest unit on the screen_t]:géi‘f‘:cdﬁ:’;be
turned on and off or made ‘_l_‘:,_}(ai'i"fferent

shades is called:

(A) Button
(B) Icon ,
© Bit
(D)4 Plxel
--(--ﬁ‘-d-k;i-\-i systems are used in lieu of

."typed passwords to identify people

) authorized to use a computer system.

(A) Bioinformatics

(B) Biometric

(C) Biophysics

(D) None of these.

All diskettes must be ------------- before
they can store data.

(A) Named

(B) Saved

(C) Formatted

(D) None of the above

Right of people not to reveal
information about themselves is known
as

(A) RTI

(B) Privacy

(C) Security

(D) None of the above.
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PART A : GENERAL COMPUTER USE SKILLS

11. ISP stands for
(A) Internet Solution Provider
(B) Internet System Provider
(C) Internet Service Provider
(D) Internet Software Provider
12. On Internet ---------- refers to sending
unsolicited mail such as chain letters,
and advertising.
(A) Scrolling
(B) Spamming
(C) Stealing
(D) None of the above
13.  What are the terms spiders and crawlers
most closely related to?
(A) Internet
(B) Modems
(C) Electronic News Services

(D) All of the above

14, mmeeeee- is the real-time transmissiorMo

the public in a digital formaf\3f-audio
and audiovisual works. 4 y
The correct order ofthe szm:;e 1s:
(A) Webcasting; \)
(B) Web stdig |

(C) Download1ng
(1), NGneof the above
15, Internet location of a computer or
‘*:.g\‘:‘_“h";'f-sé;ver on which a hyperlinked
| document is stored known as:
(A) Web Browser
(B) Web Page
(C) Web Site
(D) None of the above

16. What does COUNTA () function do in
MS Excel?
(A) Counts cells having alphabets
(B) Counts empty cells
(C) Counts cells having numbers
(D) Count non-empty cells ,
17. You can use the formula palgtt@fj}-;fd
............... in MS Excel. _‘
(A) Format cells Containirjig'%l.l;nibers

(B) Create  and €

formula
containipg}ﬁif;éﬁﬁns
(C) Enter;‘éi_‘s;sﬁﬁli){ilons data
(D) N()ne ofthe above
18. Whlchof the following you can paste
_seléc‘ﬁﬁely using  Paste  Special
é"ommand in MS Excel?
(A) Validation
(B) Formats
(C) Formula
(D) All of the above
19. Which of the following options is not
available in Paste Special dialog box in
MS Excel?
(A) Add
(B) Subtract
(C) Multiply
(D) None of the above
20. Ctrl + D shortcut key in MS Excel will
(A) Open the Font dialog Box
(B) Apply the double line for the
active cell
(C) Fill down the selection
(D) None of the above

SET-A
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PART A : GENERAL COMPUTER USE SKILLS

21. Citrl + R shortcut key in MS Excel will
(A) Right align the content of the cell
(B) Remove the content of the
selected cell
(C) Fill the selection with active cells
to the right
(D) None of the above
22.  An MS Excel workbook is a collection
of
(A) Workbooks
(B) Worksheets
(C) Both (a) and (b)
(D) Worksheets and charts
23. A workspace in MS Excel is a
(A) Group of columns
(B) Group of Worksheets
(C) Group of rows
(D) Group of Workbooks
24. Hyperlinks can be
(A) Text <,
(B) Drawing Object{ D

(C) Pictures o\
(D) All ofthaabove
25, Alway§___f['(}f":f'{;:‘}%}alféwa formula in MS Excel
Wthh (:'){tﬁ'e.:following is correct
AN -‘:QOnly values but not the cell
% V references are used
IMF"(B) Only cell references but not the
values are used
(C) Both values and cell references
are used

(D) None of the above

26.

27

28.

29,

30.

MS Word is which type of software
(A) System Software

(B) Application Software

(C) DBMS

(D) None of the above

Which is not a feature of MS Word_?}j‘

(A) Spell check
(B) Translate

(C) Thesaurus
(D) None of the abeve |
Which keyéﬁiﬁe&é_ ‘-ﬁged to remove the
entirez.f'ifcf;;rrn;ﬁigg of selected items in

MS Wokd

( A) .Ctrl + Space bar
s ) (B) Shift + Space bar

(C) Citrl + Shift + Space bar

(D) None of the above

Generally, which of the following is
included in paragraph formatting in MS
Word

(A) Subscript

(B) Superscript

(C) Line spacing

(D) None of the above

What is the shortcut key to change the
Font in MS Word

(A) Ctrl+F

(B) Shift +F

(C) Ctrl + Shift + F

(D) Ctrl+ Alt+F
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PART A : GENERAL COMPUTER USE SKILLS

31. Which of the following menu has 36.
watermark option?
(A) Design
(B) Page layout
(C) Tools
(D) Review

32. In MS Word HOME key is used for 37
(A) Moving the cursor beginning of
the document
(B) Moving the cursor beginning of
the paragraph
(C) Moving the cursor beginning of
the line
(D) All of the above
33. The ability to combine the name & 38

addresses with a standard document is

called

(A) Document formatting

(B) Database creation

(C) Form Letters /

(D) Mail merge 7 \ 30,

34. The shortcut ls;e used for center

alignment in,M$ Word.
A cofeady™
®) (el ¢

AT Ol + Alt+E

3 (B) Ctrl + Alt + C

35 In MS Word page number option is in 0.
(A) Page layout menu

(B) View Menu

(C) Insert Menu

(D) None of the above

In MS Power Point various templates

are in

(A) Design menu

(B) Insert menu

(C) View menu

(D) None of the above

In MS Power Point the follgwif_l_&g;‘will

not advance the slides in %J,'s‘*il_i_aé'show

view

(A) The Esc ke;y‘?';;_j;‘-

(B) The sp‘g;é'bafkey

(C) g Eﬁté;ukey

(&) ) The Mouse button

In MS Power Point different chart

“) si:yles are in ------- menu.

(A) Insert

(B) Format

(C) Storyboard

(D) Animation

In MS Power Point the translate option

18 1N =------ menu

(A) Design

(B) View

(C) Review

(D) Format

In MS Power Point the following is not

an option when printing handouts

(A)
(B)
(©)
(D)

Six slides per page
Four slides per page
Five slides per page

Three Slides per page
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PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

41. Which is the analogy of -

44. The correct order of the following is:

Botany: Plants :: ?: ? A.  With the twentieth century, time
(A) Geology : Earth had to be much more exact.
(B) Stars : Astronomy B.  After all, it had to keep pace with
(C) Teacher : Class the new science and technology
(1) [Dhseass : Biology that was sweeping the modem
42. Analogy of- Physician : Surgeon :: ?: ? q |
world.
(A) Nurse : doctor * ¥,
C. Even one-hundredth ofi/a second
(B) Optometrist : ophthalmologist
mattered in figldsJike astronomy.
(C) Urologist : gynecologist tY"
D. Accuraey=l.n® longer meant
(D) None of the above s\
o keepitig féfne to the half minute or
43. The correct order of the following is: )
. . L e d.
A. At first, you think of it as just a : e 1 secon
matter of growing bigger. .-,-‘="L"j._(A) TRl
B. There is nothing in the world “) (B) ABCD
more fascinating than watching a | (C) DCBA
child grow and develop. . (D) DABC
C. Then, as the infant begins to.fdb 45. Which of the following sentence (s) is /
things, you may thm,k of it as are correct?
“learning tricksé “ A, Make a special note of any special
D. In SRl Ways;:g:ﬁevdevelopment of characteristics that a world has had.
eac‘.}“}:‘ Chﬂd retraces the whole B. The judge Mr. Sharma increased
hlstory “of the human race, the sentence of life imprisonment.
y -'.5-.P‘hys1cally and spiritually, step by 6 W had o lightishidinner
W\, / step. _ _
D. Ram is very good at putting on
<FE.  But, it’s really more complicated _
different accentual.
and full of meaning than that.
(A) Aonly
(A) BACED
(B) AandC
(B) DABCE
(C) A,BandC
(C) ACBDE
(D) None of the above.
(D) DACBE
SET-A Page - 5



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

46. “My grandmother seldom ever wants to 49. Statements: (I) Leaders are human
try and face the facts.” being. (II) All human being needs rest.
The correct sentence of this sentence is: Conclusions: (I) All human being are
(A) My grandmother seldom ever not leaders. (II) Leaders need rest.
wants to try and face the facts. Which of the conclusions follows from
(B) My grandmother seldom if ever Hhestatemenis?
wants to try and face the facts. (A) Only conclusion I follows N,
(C) My grandmother seldom ever R T — follq_wsi _
wants to try to face the facts. - - ANV
(D) My grandmother seldom wants to = Ej;j::: conclusion I nOr .
iy T fagethetants, (D) Both conclusiof d 11 follows
47. Statement: The best way to escape from 5. Compleieihe se.qﬁg;;fc'é% 9. 55.26. 13, .
a problem is to solve it. A 2 s " .
Conclusions: (I) Your life will be dull, ® 5. \/
if you don’t not face a problem. <)
(II) To escape from problems, you ((F) 3
should always have some solutions with (ONS
i, 31. Wind the number that does not belong to
Which of the conclusions follows from a WNSEEOUPERS, 27, 123, 343, 135
the statements? &y &
(A) Conclusion Ifollows (B2 43
(B) Conclusion IT follows (€ 1331
(C) Neither Conclusion 1 Nor 11 (D) None of these
follows y s 52. Which of the following words cannot
(D) Both Conclus‘_iioﬁs Izmd 11 follows be formed by using the letters of the
48. Statement: The IILQI‘ iig population of word: COMMUNICATION.
our nation Wﬂl lead to depletion of (A) Action
many es&eﬁntéﬁ _l‘lfé'éources. (B) Unison
Concluslc)ns () Population of our (C) Nation
nattcmcan be controlled. (D) Union
(H) The nation will not be able to 53. In a certain code language, ‘CROWD’
.'K";'f-p.i:;.)vide a decent living of its citizens. is coded as 23415924 and ‘TRHICK’ is
* Which of the conclusions follows from coded as 162491997. How will
the statements? ‘FRUGAL’ be coded in that language?
(A) Conclusion Ifollows A) 1226761821
(B) Conclusion II follows EB; 1521012291
(C) Neither Conclusion I Nor II (©) 1512021921
follows
(D) Both Conclusions I and II follows (b) 122102118
SET-A Page - 6



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

54. A man travels 4 km due North, then 58. If x/y = 3/4, then the value of the
travels 6 km due East and further expression: (SX_3y)/(7x+2y) 8
travels 4 km due North. How far he is (A) 3721
from the starting point? (B) 5/29
A) 10km
@ (C) 329
(B) 14km

(D) 5733
(C) 8km (
(D) Nooeof theabove 59. The average age of a class of 30

55. AsIreached the station, I came to know students and a teachergr educ;as by 0.5
that I reached 30 min carlier. And the years, if we exclud :_‘ hﬁg'-.teacher. If the
train was 1 h and 30 min late, so it initial average.-ié 14years, then the age
arrived at 6:20 O” clock. When did 1 of the Clasfg'f;té'acﬁér is:
reach the station? (A). -:':26 y ears
(A) 4:40 0 clock (B 29 yEsans
(B) 5:100 clock

"o (€) 27 years
(C) 5:200 clock
(D) None of the above.
(D) 4:200 clock o \

56. Six people A, B, C, D, E and Fare 60. A number is mistakenly divided by 5
sitting around a eircular table _fac;ﬂing. the instead of being multiplied by 5. The
O - I T the"":}iigl.l‘vf‘:(‘)f“E C percentage change in the result due to
sits to the immediate” left O E. T sits this mistake is:
second to the rlgh_{_‘_:"'f D: Who sits third (A) 96%

4) D (C) 2400%
A (D) 200%
O\ B
61. The state of Uttar Pradesh has

v D) B

57. If p. @, t. s, and t are five consecutive LR i
even numbers, then their average is: (A) IT & Startup Policy 2017
(A) (pHqtrts+t) (B) IT & Startup Policy 2016
(B) 3(ptqtrt+stt) (C) IT & Startup Policy 2020
(C) (p*q*r*s*t)/5 (D) None of the above
(D) None of these

SET-A Page - 7



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

62. Which is not a goal of startup policy of 65. State level annual startup ranking
the state of UP? framework (UPrate) shall be introduced
(A) Establish/support 100 incubators, for GoUP registered incubators and

startups which will be evaluated based
minimum one in each district of )
on predefined parameters. Which of the
the State following shall be the approval
(B) Create the ecosystem for at least authority for defining these annyal
10,000 startups in the state ranking parameters? ‘
(C) Establish 8 state of the art Center (A)  Steering Committee (SC)
(B) Policy Monitoring » &
of Excellence (CoEs) _ NV
ImplementationComptyittee (PMIC)
(D) Establish India’s largest incubator © Administ@ti‘%;ff'qp ‘_',ic_}‘ﬁ‘lmittee (AC)
in Varanasi (D) Nodal Committee (NC)

63. For deliberation on the policy matters, 66. The Government of Uttar Pradesh has

interdepartmental  collaboration and estabhshed UP  Startup  Fund  for
) : provitig access to finance to startups
progress review on the policy )
. . . A in Uttar Pradesh of:
implementation outcomes the Steering 7~ M) INR 10000 Crore
Committee shall be chaired by: p e, (B) INR 10010 Crore
(A) Hon. Chief Minister, Govt. of (C) INR 1000 Crore
Uttar Pradesh N\ (D) INR 10100 Crore
(B) Hon. Minister of JIT “& GF. DEPARESHL Bl -weooemomoees shiall
_ support incubators supporting ODOP
Electronics, Govt#” Jofy Ulttar _ _ )
PN products in each of the identified
Pradesh \ clusters under the ODOP scheme.
(C) Chief Secrgtaty™of Govt. of Uttar (A) Finance
Pradesh'\ (B) MSME
(D) Non ofthe above (€) Tourism
\ >~ . (D) None of the above
64. Key\Petformance Indicators (KPIs) for
P, U _ 68. Center of Excellence (CoE) shall be
. "_"_I.).efl.()dlc assessment of incubator’s L T T——— S
& '”"i.}_pé:rformance towards achieving the recommendations of PMIC.
policy goals shall be approved by: (A) Hon. Cabinet of Govt. of Uttar
(A) Steering Committee (SC) Pradesh
(B) Policy Monitoring & (B) Hon. Chief Minister of Govt. of
Uttar Pradesh
Implementation Committee (PMIC) . _
(C) Hon. Minister of Finance Govt. of
(C) Finance Committee (FC) Uttar Pradesh
(D) None of the above (D) None of the above
SET-A Page - 8



PART B : ANALYTICAL REASONING AND GENERAL AWARENESS

69,  —memmemeeeee- are the most critical 73. Sustenance allowance at the rate of INR
component of startup ecosystem. 17,500 per month per startup for a
(A) Researchers period of one-year up to--------------
(B) Innovators startups per incubator per year shall be
(C) Incubators given to startups at the idea stage.
(D) None of the above (A) 20

70. Host institutes willing to get recognized (B) 25
under UP Startup Policy shall be (C) 30
required to have a floor area of ---------- (D) None of the above _
for educational institutes and ---------- 2 R Goverﬁ:é);;nce .;lstructure
for incubators occupying commercial shall be establi?%h’edﬁf“qfor effective
space. implementapiéﬁ’ and monitoring of the
(A) 1000 sq. ft., 50000 sq. ft. Startup Pohcy2020
(B) 5000 sq. ft., 10000 sq. ft. (A)- 3-T1er
(C) 1500 sq. fi., 25000 sq. fi. (](3'?).__'_=_‘j2\‘-;li"ier
(D) 10000 sq. ft., 5000 sq, ft. INO)  4-Tier

e incubation seats at GoUP “) (D) None of the above
recognized incubators shall be given on. i O L ———— shall oversee the
priority basis to startups with W_omé.ﬁ ? work of nodal agency as well as
founders/co-founders on pgpfereﬁtja‘l decision  making  for  effective
basis. implementation of the startup policy.
(A) 30% (A) Project Implementation Unit
(B) 33% (B) Policy Implementation Unit
) 25% (C) Policy Monitoring & Implementation
D) 50% Committee (PMIC)

72. Flnanclalsupport to incubators up to---- (D) None of the above
j-"-”-%--'_"7‘:‘;'-i;i3r year to cover operational

" ?'éygpten.c\iiture PR mmnaumsmuns s or until
N t';':""sé..lf-sustainable whichever is earlier.
| (A) INR 30 Lakhs, 3 years

(B) INR 20 Lakhs, 3 years
(C) INR 20 Lakhs, 5 years
(D) INR 30 Lakhs, 5 years
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